

# 2025 Summer Leagues

**Greater Toronto Tenpin Bowling Association**

Bowler Name	CTF ID Number	Gender	League Name	League Type	Pins	Games	Averages	Sport/Challenge
Al-Barbar, Amer	15005-29467	Male	BBS17 Double Trouble Summer	Adult League	8583	48	178	
Amde, Elliyas	15005-27874	Male	RHS14 CBC Thursday Summer	Adult League	3967	21	188	
Amde, Elliyas	15005-27874	Male	RHS15 UZC Summer Friday League	Adult League	7076	39	181	
Annese, Joe	15005-28315	Male	BBS17 Double Trouble Summer	Adult League	9150	44	207	
Au, Irene	15005-2039	Female	RHS15 UZC Summer Friday League	Adult League	6168	36	171	
Auyeung, Andrew	15005-17068	Male	WOS11 CBC Splitsville Monday Summer	Adult League	2808	18	156	
Avey, Dean	15005-24201	Male	WOS11 CBC Splitsville Monday Summer	Adult League	5925	36	164	
Azad, Amir	15005-27114	Male	RHS14 CBC Thursday Summer	Adult League	8932	48	186	
Azad, Amir	15005-27114	Male	RHS15 UZC Summer Friday League	Adult League	3302	18	183	
Barranca, Domenic	15005-25296	Male	BBS17 Double Trouble Summer	Adult League	7398	44	168	
Bautista, Romel	15005-27099	Male	KES28 Off Szn Bowling League	League	636	4	159	C
Bazin, Peggy C	15005-2914	Female	BAS31 Summer Bankers	Adult League	9139	60	152	
Beeby, Denise P	15005-155	Female	BAS31 Summer Bankers	Adult League	9440	52	181	
Biraker, Rasim	15005-29479	Male	RHS15 UZC Summer Friday League	Adult League	7101	51	139	
Blakely, Wayne A	15005-2829	Male	BAS31 Summer Bankers	Adult League	10898	60	181	
Budhoo, Nathaniel	15005-29348	Male	BBS17 Double Trouble Summer	Adult League	6836	48	142	
Casey, Mildred Ramirez	15005-27183	Female	BBS17 Double Trouble Summer	Adult League	7921	52	152	
Casey, Robert Conn	15005-19354	Male	BBS17 Double Trouble Summer	Adult League	12274	52	236	
Casimier, Joshua	15005-27275	Male	KES28 Off Szn Bowling League	League	7200	40	180	C
Chambers, Corey	15005-28794	Male	RHS15 UZC Summer Friday League	Adult League	6572	45	146	
Chan, Alden	15005-25812	Male	RHS15 UZC Summer Friday League	Adult League	9117	48	189	
Chan, Alvin	15005-24964	Male	WOS11 CBC Splitsville Monday Summer	Adult League	4758	27	176	
Chan, Andy (Ho-Keung)	15005-28490	Male	RHS14 CBC Thursday Summer	Adult League	8540	54	158	
Chan, Cecilia	15005-24744	Female	WOS11 CBC Splitsville Monday Summer	Adult League	5457	36	151	
Chan, Christine	15005-27605	Female	RHS14 CBC Thursday Summer	Adult League	6396	45	142	
Chan, Christine	15005-27605	Female	WOS11 CBC Splitsville Monday Summer	Adult League	4533	33	137	
Chan, Conroy	15005-22310	Male	WOS11 CBC Splitsville Monday Summer	Adult League	7473	39	191	
Chan, Darren	15005-27759	Male	RHS14 CBC Thursday Summer	Adult League	11364	51	222	
Chan, Darren	15005-27759	Male	RHS15 UZC Summer Friday League	Adult League	11075	51	217	
Chan, Eddie	15005-12967	Male	RHS15 UZC Summer Friday League	Adult League	665	3	221	
Chan, Francic W	15005-1282	Male	RHS14 CBC Thursday Summer	Adult League	3198	18	177	
Chan, Francic W	15005-1282	Male	WOS11 CBC Splitsville Monday Summer	Adult League	2092	12	174	
Chan, Heung	15005-2417	Male	RHS14 CBC Thursday Summer	Adult League	8468	48	176	
Chan, Ho Leung	15005-25857	Male	RHS14 CBC Thursday Summer	Adult League	7739	39	198	
Chan, Ho Leung	15005-25857	Male	RHS15 UZC Summer Friday League	Adult League	5583	30	186	
Chan, Jeanette	15005-26101	Female	RHS15 UZC Summer Friday League	Adult League	7405	45	164	
Chan, Karman	15005-22902	Male	RHS15 UZC Summer Friday League	Adult League	1294	6	215	
Chan, Kevin W L	15005-26763	Male	WOS11 CBC Splitsville Monday Summer	Adult League	7946	42	189	
Chan, Max	15005-28983	Male	WOS11 CBC Splitsville Monday Summer	Adult League	6726	45	149	
Chan, Patrick T	15005-2247	Male	WOS11 CBC Splitsville Monday Summer	Adult League	3785	24	157	
Chan, Stephen	15005-26204	Male	RHS15 UZC Summer Friday League	Adult League	8379	48	174	
Chan, Violet Y C	15005-890	Female	WOS11 CBC Splitsville Monday Summer	Adult League	426	3	142	
Chang, Andrew W	15005-29080	Male	BBS17 Double Trouble Summer	Adult League	3690	20	184	
Chapman, Tom	15005-26231	Male	BBS17 Double Trouble Summer	Adult League	7720	44	175	
Chen, Joseph	15005-8956	Male	RHS14 CBC Thursday Summer	Adult League	7197	42	171	
Chen, Joseph	15005-8956	Male	WOS11 CBC Splitsville Monday Summer	Adult League	6114	36	169	
Cheng, Alphonsus	15005-13745	Male	WOS11 CBC Splitsville Monday Summer	Adult League	727	6	121	
Cheng, Darren (Ting Kuen)	15005-29287	Male	WOS11 CBC Splitsville Monday Summer	Adult League	3477	19	183	
Cheung, Clarence	15005-28841	Male	RHS15 UZC Summer Friday League	Adult League	6696	36	186	
Cheung, Eric	15005-19529	Male	WOS11 CBC Splitsville Monday Summer	Adult League	4320	24	180	
Cheung, Philip	15005-3243	Male	RHS14 CBC Thursday Summer	Adult League	8159	45	181	
Cheung, Philip	15005-3243	Male	RHS15 UZC Summer Friday League	Adult League	1173	6	195	
Cheung, Raymond K Y	15005-5545	Male	RHS15 UZC Summer Friday League	Adult League	7369	39	188	

Cheung, Samuel	15005-17763	Male	RHS15 UZC Summer Friday League	Adult League	2224	15	148	
Chiu, Austin	15005-28866	Male	RHS14 CBC Thursday Summer	Adult League	4334	30	144	
Chiu, Edmund	15005-26461	Male	RHS14 CBC Thursday Summer	Adult League	7722	42	183	
Chiu, Simon	15005-26460	Male	RHS14 CBC Thursday Summer	Adult League	7086	45	157	
Chiu, Tyler	15005-28867	Male	RHS14 CBC Thursday Summer	Adult League	5013	33	151	
Chiu, Wing	15005-17070	Male	RHS14 CBC Thursday Summer	Adult League	7332	42	174	
Choi, Raymond T F	15005-5833	Male	RHS14 CBC Thursday Summer	Adult League	4507	27	166	
Choi, Raymond T F	15005-5833	Male	WOS11 CBC Splitsville Monday Summer	Adult League	4888	27	181	
Chopra, Raj	15005-29421	Male	BBS17 Double Trouble Summer	Adult League	6581	44	149	
Chow, Brian	15005-27164	Male	WOS11 CBC Splitsville Monday Summer	Adult League	5465	33	165	
Chow, Daniel Y	15005-3249	Male	RHS14 CBC Thursday Summer	Adult League	5371	27	198	
Chow, Daniel Y	15005-3249	Male	RHS15 UZC Summer Friday League	Adult League	3959	21	188	
Chow, Daniel Y	15005-3249	Male	WOS11 CBC Splitsville Monday Summer	Adult League	3288	18	182	
Chow, Grace	15005-24965	Female	WOS11 CBC Splitsville Monday Summer	Adult League	5653	39	144	
Chow, Mabel	15005-28797	Female	RHS14 CBC Thursday Summer	Adult League	2149	18	119	
Choy, Elina	15005-19794	Female	RHS15 UZC Summer Friday League	Adult League	3844	24	160	
Choy, Emerson	15005-25885	Male	RHS14 CBC Thursday Summer	Adult League	8817	51	172	
Choy, Jimmy	15005-26213	Male	RHS14 CBC Thursday Summer	Adult League	7356	42	175	
Chung, Charles	15005-24217	Male	WOS11 CBC Splitsville Monday Summer	Adult League	4129	24	172	
Chung, Jenny	15005-26478	Male	RHS14 CBC Thursday Summer	Adult League	1303	9	144	
Chung, Jenny	15005-26478	Female	WOS11 CBC Splitsville Monday Summer	Adult League	854	6	142	
Chung, Tin Hau	15005-29291	Male	RHS14 CBC Thursday Summer	Adult League	5769	30	192	
Chung, Tin Hau	15005-29291	Male	WOS11 CBC Splitsville Monday Summer	Adult League	8061	45	179	
Collins, Kashiff S	15005-29041	Male	KES28 Off Szn Bowling League	League	7497	44	170	C
Conti, Jenna	15005-27875	Female	RHS15 UZC Summer Friday League	Adult League	4154	33	125	
Couture, Eric E	15005-779	Male	BAS31 Summer Bankers	Adult League	8075	56	144	
Crosby, Riza	15005-28699	Female	RHS15 UZC Summer Friday League	Adult League	2464	22	112	
Cruz Jr., Marlon	15005-18447	Male	RHS15 UZC Summer Friday League	Adult League	1037	6	172	
Cruz, Helen C	15005-408	Female	RHS15 UZC Summer Friday League	Adult League	817	6	136	
Cruz, Kobi G	15005-27474	Male	RHS15 UZC Summer Friday League	Adult League	4848	27	179	
Cruz, Natasha	15005-23956	Female	RHS15 UZC Summer Friday League	Adult League	7662	45	170	
Dai, Andy	15005-29461	Male	WOS11 CBC Splitsville Monday Summer	Adult League	2417	18	134	
Darwen, Brian	15005-25038	Male	WOS11 CBC Splitsville Monday Summer	Adult League	6769	39	173	
Davidson, Brian M	15005-29131	Male	BBS17 Double Trouble Summer	Adult League	7735	48	161	
Davidson, May D	15005-23645	Female	BAS31 Summer Bankers	Adult League	8098	60	134	
DeFilippis Sr., Gino	15005-29480	Male	RHS15 UZC Summer Friday League	Adult League	8287	51	162	
Del Borrello, Tony	15005-17922	Male	RHS15 UZC Summer Friday League	Adult League	9131	51	179	
Dela Cruz, Mark	15005-28854	Male	RHS15 UZC Summer Friday League	Adult League	6651	36	184	
Dhanai, Julian P	15005-28322	Male	BBS17 Double Trouble Summer	Adult League	9398	47	199	
Doyle, Will J	15005-28689	Male	BAS31 Summer Bankers	Adult League	6683	40	167	
Ducelien, Caleb	15005-25861	Male	KES28 Off Szn Bowling League	League	8496	48	177	C
Dun, Desmond	15005-29481	Male	RHS15 UZC Summer Friday League	Adult League	6055	45	134	
Emms, Laura	15005-29474	Female	BAS31 Summer Bankers	Adult League	6766	56	120	
Emms, Ryan J	15005-23004	Male	BAS31 Summer Bankers	Adult League	11124	60	185	
Eng, Cory J	15005-29289	Male	WOS11 CBC Splitsville Monday Summer	Adult League	7114	45	158	
England, Earl H	15006-290	Male	BAS31 Summer Bankers	Adult League	12794	60	213	
Erskine, Neil	15005-2098	Male	KES28 Off Szn Bowling League	League	7744	44	176	C
Erwin, Jesse	15005-29155	Male	RHS14 CBC Thursday Summer	Adult League	7974	51	156	
Erwin, Jesse	15005-29155	Male	RHS15 UZC Summer Friday League	Adult League	6765	42	161	
Esguerra, Lorenz-Eli	15005-29028	Male	KES28 Off Szn Bowling League	League	6900	40	172	C
Feliciano, Issabella	15005-28745	Female	RHS15 UZC Summer Friday League	Adult League	8091	48	168	
Feliciano, Janice (Florence)	15005-19493	Female	RHS15 UZC Summer Friday League	Adult League	5796	36	161	
Flores, Diandra (DJ)	15005-28872	Female	RHS15 UZC Summer Friday League	Adult League	3812	30	127	
Foncardas, Reuben	15005-29462	Male	WOS11 CBC Splitsville Monday Summer	Adult League	6822	45	151	
Fung, Root (Yung Kan)	15005-27878	Male	WOS11 CBC Splitsville Monday Summer	Adult League	5191	33	157	
Gallenero, Emilio	15005-28748	Male	RHS15 UZC Summer Friday League	Adult League	8313	45	184	
Gallenero, Wyatt	15005-28470	Male	RHS15 UZC Summer Friday League	Adult League	4858	30	161	
Garcia, David Leander M	15005-29351	Male	BBS17 Double Trouble Summer	Adult League	8753	48	182	
Giles, Terry E	15005-331	Male	BAS31 Summer Bankers	Adult League	10181	60	169	
Gillis, Patrick J	15005-26044	Male	BAS31 Summer Bankers	Adult League	10660	60	177	

Golea, Albert	15005-14736	Male	RHS15 UZC Summer Friday League	Adult League	7839	45	174	
Gottwald, Norman W	15005-10938	Male	BBS17 Double Trouble Summer	Adult League	8409	40	210	
Greenough, Karin M	15005-02359	Female	BAS31 Summer Bankers	Adult League	7808	52	150	
Harvey, Catherine L	15005-16005	Female	BAS31 Summer Bankers	Adult League	11561	60	192	
Hatcher-Ayyoub, Danielle E	15005-28783	Female	BBS17 Double Trouble Summer	Adult League	5747	42	136	
Hatcher-Ayyoub, Jordan P	15005-28771	Male	BBS17 Double Trouble Summer	Adult League	8330	48	173	
Ho, Allan	15005-22306	Male	RHS15 UZC Summer Friday League	Adult League	7550	48	157	
Ho, Allan	15005-22306	Male	WOS11 CBC Splitsville Monday Summer	Adult League	7212	45	160	
Ho, Edwin	15005-23964	Male	RHS15 UZC Summer Friday League	Adult League	4310	27	159	
Ho, Simon	15005-25039	Male	RHS14 CBC Thursday Summer	Adult League	4056	24	169	
Hosein, Sajad T	15005-29183	Male	BBS17 Double Trouble Summer	Adult League	8031	48	167	
Hou, Po Ling Gisele	15005-29398	Female	RHS15 UZC Summer Friday League	Adult League	7673	50	153	
Hua, Jason	15005-29454	Male	RHS15 UZC Summer Friday League	Adult League	1993	15	132	
Huang, Jocelyn	15005-27166	Female	RHS14 CBC Thursday Summer	Adult League	4272	24	178	
Huang, Jocelyn	15005-27166	Female	RHS15 UZC Summer Friday League	Adult League	7394	42	176	
Huang, Jocelyn	15005-27166	Female	WOS11 CBC Splitsville Monday Summer	Adult League	7875	45	175	
Ibarrientos, Kurt	15005-29029	Male	RHS15 UZC Summer Friday League	Adult League	7390	45	164	
Ibrahim, Mena	15005-29468	Male	BBS17 Double Trouble Summer	Adult League	9581	52	184	
Ip, Benny S	15005-26246	Male	WOS11 CBC Splitsville Monday Summer	Adult League	1842	12	153	
James, Jeffrey G	15005-1774	Male	BBS17 Double Trouble Summer	Adult League	9253	48	192	
James, Laura Colleen	15005-23374	Female	BBS17 Double Trouble Summer	Adult League	8536	48	177	
Johnson, Robert A	15005-6179	Male	BAS31 Summer Bankers	Adult League	8055	45	179	
Jones, Melissa D	15005-22476	Female	BAS31 Summer Bankers	Adult League	12086	60	201	
Jones, Tyler	15005-28459	Male	KES28 Off Szn Bowling League	League	8232	48	171	C
Kang, Byungsuk	15005-29020	Male	RHS15 UZC Summer Friday League	Adult League	9310	51	182	
Kang, Minseog	15005-29482	Male	RHS15 UZC Summer Friday League	Adult League	9200	51	180	
Kho, Wylie	15005-21015	Female	WOS11 CBC Splitsville Monday Summer	Adult League	7517	42	178	
Kim, Catherine	15005-29156	Female	RHS15 UZC Summer Friday League	Adult League	5129	30	170	
Kim, Hansoo	15005-29157	Male	RHS15 UZC Summer Friday League	Adult League	3560	27	131	
Kisch, Robert	15005-26316	Male	WOS11 CBC Splitsville Monday Summer	Adult League	7563	45	168	
Kiss, Louis J	15005-28825	Male	BAS31 Summer Bankers	Adult League	12016	60	200	
Koo, James	15005-15773	Male	RHS15 UZC Summer Friday League	Adult League	8676	42	206	
Kornek, Andrew R	15005-26986	Male	BAS31 Summer Bankers	Adult League	11839	60	197	
Kowal, Michael J	15005-29401	Male	RHS15 UZC Summer Friday League	Adult League	3763	24	156	
Ku, Ody	15005-28634	Male	RHS15 UZC Summer Friday League	Adult League	4386	27	162	
Kung, Brick	15005-29158	Male	RHS15 UZC Summer Friday League	Adult League	4746	33	143	
Kwai, Eddy	15005-26503	Male	WOS11 CBC Splitsville Monday Summer	Adult League	8284	42	197	
Kwan, Harry	15005-8692	Male	RHS14 CBC Thursday Summer	Adult League	10117	51	198	
Kwan, Jennifer W	15005-27802	Female	RHS15 UZC Summer Friday League	Adult League	1001	9	111	
Kwan, Ryan	15005-28868	Male	RHS14 CBC Thursday Summer	Adult League	7873	48	164	
Kwan, Ryan	15005-28868	Male	RHS15 UZC Summer Friday League	Adult League	393	3	131	
Lahey, Scott B	15005-29469	Male	BBS17 Double Trouble Summer	Adult League	8756	52	168	
Lam, Raymond	15005-26434	Male	RHS15 UZC Summer Friday League	Adult League	2072	12	172	
Lam, Raymond L	15005-2555	Male	RHS14 CBC Thursday Summer	Adult League	6313	39	161	
Lam, Raymond L	15005-2555	Male	WOS11 CBC Splitsville Monday Summer	Adult League	485	3	161	
Lam, Tony C K	15005-2007	Male	RHS14 CBC Thursday Summer	Adult League	6281	36	174	
Lam, Tony C K	15005-2007	Male	RHS15 UZC Summer Friday League	Adult League	2099	12	174	
Lapointe, Steve M	15005-18493	Male	BBS17 Double Trouble Summer	Adult League	9525	52	183	
Lau, Eddie	15005-17116	Male	WOS11 CBC Splitsville Monday Summer	Adult League	1528	9	169	
Lau, Peter	15005-14336	Male	WOS11 CBC Splitsville Monday Summer	Adult League	1522	9	169	
Layne, Glyne E	15005-23229	Male	KES28 Off Szn Bowling League	League	5379	32	168	C
Le, Dolores	15005-29478	Female	WOS11 CBC Splitsville Monday Summer	Adult League	1822	21	86	
Leblanc, Brandon J	15005-27978	Male	BAS31 Summer Bankers	Adult League	9799	56	174	
Lee, Chang (Jun)	15005-28786	Male	RHS15 UZC Summer Friday League	Adult League	3739	21	178	
Lee, Donald T	15005-1277	Male	RHS14 CBC Thursday Summer	Adult League	5931	30	197	
Lee, Jason	15005-28956	Male	RHS15 UZC Summer Friday League	Adult League	7258	45	161	
Lee, Michael J	15005-28875	Male	RHS15 UZC Summer Friday League	Adult League	7686	48	160	
Lee, Michael J	15005-28875	Male	WOS11 CBC Splitsville Monday Summer	Adult League	2119	12	176	
Lee, Robin L	15005-7330	Female	BAS31 Summer Bankers	Adult League	9291	56	165	
Lee, William C T	15005-4707	Male	RHS14 CBC Thursday Summer	Adult League	6193	42	147	

Lee, William C T	15005-4707	Male	WOS11 CBC Splitsville Monday Summer	Adult League	5992	39	153	
Lemon, Terina	15005-29353	Female	BBS17 Double Trouble Summer	Adult League	5892	44	133	
Leong, Gregory	15005-18948	Male	WOS11 CBC Splitsville Monday Summer	Adult League	6853	42	163	
Leung, Calvin Y S	15005-2400	Male	RHS14 CBC Thursday Summer	Adult League	5394	27	199	
Leung, Calvin Y S	15005-2400	Male	WOS11 CBC Splitsville Monday Summer	Adult League	3971	21	189	
Leung, Chris	15005-26747	Male	RHS14 CBC Thursday Summer	Adult League	3675	21	175	
Leung, Edward Y C	15005-3477	Male	RHS15 UZC Summer Friday League	Adult League	3834	21	182	
Leung, Jesper	15005-29463	Male	WOS11 CBC Splitsville Monday Summer	Adult League	5308	45	117	
Leung, Kevin	15005-28474	Male	RHS14 CBC Thursday Summer	Adult League	8553	42	203	
Leung, Mary F C	15005-4195	Female	RHS15 UZC Summer Friday League	Adult League	6102	36	169	
Leung, Patrick M	15005-7020	Male	RHS15 UZC Summer Friday League	Adult League	6685	39	171	
Leung, Patrick M	15005-7020	Male	WOS11 CBC Splitsville Monday Summer	Adult League	7824	45	173	
Leung, Terence T W	15005-29160	Male	RHS15 UZC Summer Friday League	Adult League	494	3	164	
Leung, Wilson W	15005-26510	Male	RHS14 CBC Thursday Summer	Adult League	5318	27	196	
Leung, Wilson W	15005-26510	Male	RHS15 UZC Summer Friday League	Adult League	7815	39	200	
Li, Albert S.T.	15005-2553	Male	WOS11 CBC Splitsville Monday Summer	Adult League	1537	9	170	
Li, Michael	15005-22100	Male	RHS14 CBC Thursday Summer	Adult League	6150	39	157	
Li, Peter	15005-3240	Male	WOS11 CBC Splitsville Monday Summer	Adult League	5248	33	159	
Li, Polly	15005-22744	Female	WOS11 CBC Splitsville Monday Summer	Adult League	5378	36	149	
Li, Wallace	15005-12970	Male	WOS11 CBC Splitsville Monday Summer	Adult League	4218	24	175	
Li, Wilson	15005-29	Male	RHS15 UZC Summer Friday League	Adult League	6253	41	152	
Li, Wilson	15005-29	Male	WOS11 CBC Splitsville Monday Summer	Adult League	6677	45	148	
Lim, Dianne	15005-29152	Female	RHS15 UZC Summer Friday League	Adult League	2270	12	189	
Liu, Corinna	15005-25606	Female	WOS11 CBC Splitsville Monday Summer	Adult League	0	0	0	
Lo, Albert K	15005-2401	Male	WOS11 CBC Splitsville Monday Summer	Adult League	6941	45	154	
Lo, Ken	15005-26205	Female	RHS15 UZC Summer Friday League	Adult League	7213	45	160	
Lo, Mo	15005-2030	Male	WOS11 CBC Splitsville Monday Summer	Adult League	2748	21	130	
Lo, Sheret	15005-17796	Female	WOS11 CBC Splitsville Monday Summer	Adult League	4355	30	145	
Lui, Jeremy	15005-22597	Male	RHS15 UZC Summer Friday League	Adult League	8273	48	172	
Lynn, Chris V	15005-5394	Male	BAS31 Summer Bankers	Adult League	10981	56	196	
Ma, Melinda	15005-26753	Female	RHS14 CBC Thursday Summer	Adult League	7359	51	144	
Ma, Melinda	15005-26753	Female	RHS15 UZC Summer Friday League	Adult League	6067	42	144	
MacDonald, James A	15005-5219	Male	BAS31 Summer Bankers	Adult League	12095	60	201	
Malcolm, Nathaniel	15005-28407	Male	KES28 Off Szn Bowling League	League	6656	40	166	C
Manahan, Julian Lawrence S	15005-29085	Male	KES28 Off Szn Bowling League	League	7480	44	170	C
Manahan, Julian Lawrence S	15005-29085	Male	RHS15 UZC Summer Friday League	Adult League	2129	12	177	
Manchisi, Joe	15005-28341	Male	BAS31 Summer Bankers	Adult League	10665	60	177	
Marji, John	15005-29009	Male	BBS17 Double Trouble Summer	Adult League	8843	44	200	
Martin, Adam D	15005-27481	Male	KES28 Off Szn Bowling League	League	7977	44	181	C
Martinez, Bhing	15005-23035	Male	BBS17 Double Trouble Summer	Adult League	5830	28	208	
Martyn, Kevin	15005-25042	Male	WOS11 CBC Splitsville Monday Summer	Adult League	4356	30	145	
Maxwell, James R	15005-26606	Male	BBS17 Double Trouble Summer	Adult League	8578	48	178	
McDougall, Vincent	15005-24871	Male	BAS31 Summer Bankers	Adult League	9596	56	171	
McIlravey, Daniel J	15005-29153	Male	WOS11 CBC Splitsville Monday Summer	Adult League	4973	30	165	
Melo, Samantha	15005-28819	Female	BAS31 Summer Bankers	Adult League	7590	48	158	
Mendoza, Richard	15005-4438	Male	RHS15 UZC Summer Friday League	Adult League	9482	51	185	
Mercado, Dulce	15005-6865	Female	BBS17 Double Trouble Summer	Adult League	7284	44	165	
Merrick, James W	15005-15159	Male	BBS17 Double Trouble Summer	Adult League	10330	48	215	
Mitchell, Robert J	15005-29034	Male	RHS15 UZC Summer Friday League	Adult League	4521	33	137	
Mohan, Dexter	15005-28184	Male	BBS17 Double Trouble Summer	Adult League	7484	48	155	
Moon, Kei	15005-25605	Male	RHS15 UZC Summer Friday League	Adult League	5768	35	164	
Morra, David	15005-28870	Male	RHS14 CBC Thursday Summer	Adult League	7641	51	149	
Morra, John	15005-28869	Male	RHS14 CBC Thursday Summer	Adult League	8211	51	161	
Morrone, Gianni A	15005-29451	Male	WOS11 CBC Splitsville Monday Summer	Adult League	4101	33	124	
Morrone, John	15005-29154	Male	WOS11 CBC Splitsville Monday Summer	Adult League	4230	30	141	
Moscon, Michael	15005-17884	Male	BBS17 Double Trouble Summer	Adult League	11581	52	222	
Mowatt, Devante I	15005-29103	Male	KES28 Off Szn Bowling League	League	6942	39	178	C
Mui, Chester	15005-27026	Male	RHS15 UZC Summer Friday League	Adult League	5525	30	184	
Mui, Crystal	15005-27025	Female	RHS15 UZC Summer Friday League	Adult League	5712	33	173	
Mui, Danny (Hon Kit)	15005-27027	Male	RHS15 UZC Summer Friday League	Adult League	6539	39	167	

Mui, Murrel	15005-27170	Male	RHS14 CBC Thursday Summer	Adult League	4132	24	172	
Mui, Murrel	15005-27170	Male	WOS11 CBC Splitsville Monday Summer	Adult League	5623	33	170	
Narayan, Devi	15005-28683	Female	BBS17 Double Trouble Summer	Adult League	6171	51	121	
Naula, Cassandra	15005-26806	Female	BAS31 Summer Bankers	Adult League	6536	52	125	
Ng, Jimmy	15005-18797	Male	WOS11 CBC Splitsville Monday Summer	Adult League	479	3	159	
Ng, Katharine	15005-27028	Female	RHS15 UZC Summer Friday League	Adult League	2172	15	144	
Ng, Milly	15005-17774	Female	WOS11 CBC Splitsville Monday Summer	Adult League	6475	42	154	
Nguyen, Joseph	15005-29470	Male	BBS17 Double Trouble Summer	Adult League	4074	28	145	
Northcott, Nicholas J	15010-1195	Male	RHS15 UZC Summer Friday League	Adult League	8965	45	199	
Orat, Evan V	15005-9667	Male	RHS15 UZC Summer Friday League	Adult League	7131	39	182	
Palmer, Aston L	15005-27111	Male	BAS31 Summer Bankers	Adult League	10048	60	167	
Pao, Frank	15005-27511	Male	WOS11 CBC Splitsville Monday Summer	Adult League	4722	30	157	
Paras, Jeffrey H	15005-27607	Male	RHS15 UZC Summer Friday League	Adult League	10978	51	215	
Park, Seong Tae (Simon)	15005-28475	Male	RHS14 CBC Thursday Summer	Adult League	1548	9	172	
Park, Seong Tae (Simon)	15005-28475	Male	RHS15 UZC Summer Friday League	Adult League	1569	9	174	
Park, Seoyeon	15005-29483	Female	RHS15 UZC Summer Friday League	Adult League	7056	51	138	
Pastura, Chris R	15005-29471	Male	BBS17 Double Trouble Summer	Adult League	9119	52	175	
Perecki, Robert K	15005-1024	Male	BAS31 Summer Bankers	Adult League	11422	60	190	
Perfetti, Mario	15005-28009	Male	BBS17 Double Trouble Summer	Adult League	4880	32	152	
Perry-Moniz, Mona L	15005-25735	Female	BAS31 Summer Bankers	Adult League	9899	60	164	
Peters, Vern	15005-26330	Male	BAS31 Summer Bankers	Adult League	9655	60	160	
Poon, Nicky	15005-7413	Male	RHS14 CBC Thursday Summer	Adult League	8236	42	196	
Porter, Wayne D	15005-3653	Male	BAS31 Summer Bankers	Adult League	9586	60	159	
Quattrociochi, Andrew R	15005-28845	Male	BAS31 Summer Bankers	Adult League	9386	48	195	
Richard, Linda M	15005-24318	Female	BBS17 Double Trouble Summer	Adult League	7029	48	146	
Richard, Tim N	15005-24319	Male	BBS17 Double Trouble Summer	Adult League	4722	28	168	
Rosca, Robin J	15005-29121	Male	BAS31 Summer Bankers	Adult League	10566	60	176	
Salcedo, D. Erik	15005-15481	Male	RHS15 UZC Summer Friday League	Adult League	8958	48	186	
Sarmiento, Maybel	15005-23608	Female	BBS17 Double Trouble Summer	Adult League	9248	52	177	
Sawyer, Linton L	3163POA	Male	RHS15 UZC Summer Friday League	Adult League	8321	48	173	
Scott, Dawn M	15005-29202	Female	BAS31 Summer Bankers	Adult League	9034	60	150	
Scott, Steve	15005-29203	Male	BAS31 Summer Bankers	Adult League	9689	60	161	
Seith, Darryl E	8292POA	Male	RHS15 UZC Summer Friday League	Adult League	8699	51	170	
Seith, Kevin J	8293POA	Male	RHS15 UZC Summer Friday League	Adult League	8776	51	172	
Smith, Derique (Derek) E	15005-22951	Male	KES28 Off Szn Bowling League	League	6084	36	169	C
Smith, Earl	15005-3728	Male	KES28 Off Szn Bowling League	League	7392	44	168	C
Song, Hyunseok	15005-29484	Male	RHS15 UZC Summer Friday League	Adult League	7773	48	161	
Spencer, Jordan T	15004-3787	Male	BAS31 Summer Bankers	Adult League	13068	60	217	
Spoljaric, Landry	15005-29476	Female	BAS31 Summer Bankers	Adult League	4939	36	137	
Spoljaric, Logan A D	15005-29477	Female	BAS31 Summer Bankers	Adult League	6599	52	126	
Storton, John C	27989POA	Male	RHS15 UZC Summer Friday League	Adult League	9667	51	189	
Szeto, Andy	15005-12972	Male	RHS15 UZC Summer Friday League	Adult League	6254	36	173	
Tablatin, Brizzalyn Mae	15005-29472	Female	BBS17 Double Trouble Summer	Adult League	7200	52	138	
Tablatin, Mczielle Dayve	15005-29473	Male	BBS17 Double Trouble Summer	Adult League	9711	52	186	
Tam, Martin C	15005-7387	Male	WOS11 CBC Splitsville Monday Summer	Adult League	3872	24	161	
Tang, Anny	15005-19433	Female	RHS15 UZC Summer Friday League	Adult League	7454	48	155	
Tang, Jamie	15005-28293	Male	RHS14 CBC Thursday Summer	Adult League	6393	33	193	
Tang, Jamie	15005-28293	Male	RHS15 UZC Summer Friday League	Adult League	8685	45	193	
Tang, Mellie	15005-26873	Female	RHS15 UZC Summer Friday League	Adult League	2967	21	141	
Tang, Oliver	15005-15791	Male	RHS14 CBC Thursday Summer	Adult League	0	0	#DIV/0!	
Tang, Raymond Pak-Hong	15005-22747	Male	WOS11 CBC Splitsville Monday Summer	Adult League	2390	18	132	
Tao, Alan	15005-27008	Male	RHS14 CBC Thursday Summer	Adult League	8343	42	198	
Tao, Alan	15005-27008	Male	RHS15 UZC Summer Friday League	Adult League	6773	36	188	
Tong, Agnes K	15005-27163	Female	RHS15 UZC Summer Friday League	Adult League	6090	39	156	
Torossian, Natalie	15005-29464	Female	WOS11 CBC Splitsville Monday Summer	Adult League	3537	27	131	
Townsend, Brad A	15005-19947	Male	BAS31 Summer Bankers	Adult League	10136	50	202	
Tsang, Pang Chung	15005-27547	Male	WOS11 CBC Splitsville Monday Summer	Adult League	7575	45	168	
Tschesnokow, Paul	15005-29151	Male	BAS31 Summer Bankers	Adult League	9548	60	159	
Tsiolos, William	15005-29449	Male	WOS11 CBC Splitsville Monday Summer	Adult League	2190	12	182	
Valdez, Alex A	15005-27348	Male	BBS17 Double Trouble Summer	Adult League	8886	44	201	

VanderVliet, Patricia (Patti) A	15005-26981	Female	BBS17 Double Trouble Summer	Adult League	7829	48	163	
Vasant, Ricky	15005-28613	Male	BBS17 Double Trouble Summer	Adult League	9822	52	188	
Vincent, Denise G	15005-7613	Female	BAS31 Summer Bankers	Adult League	10148	60	169	
Visconti, Matthew	15005-28615	Male	BBS17 Double Trouble Summer	Adult League	9017	48	187	
Walker, Triston W	15005-27062	Male	KES28 Off Szn Bowling League	League	8592	48	179	C
Wallace, Craig	15005-25927	Male	BBS17 Double Trouble Summer	Adult League	9655	48	201	
Walton, Michael A	15005-25862	Male	KES28 Off Szn Bowling League	League	9075	48	189	C
Wat, Vivian	15005-28713	Female	RHS14 CBC Thursday Summer	Adult League	5802	51	113	
Weinberg, Ron	15005-227	Male	BAS31 Summer Bankers	Adult League	9442	56	168	
White, Furman	15005-28821	Male	BAS31 Summer Bankers	Adult League	10037	60	167	
Whitehead (Emms), Lynn Yvonne	15005-29475	Female	BAS31 Summer Bankers	Adult League	9060	60	151	
Williams, Wayne Anthony	15005-23558	Male	KES28 Off Szn Bowling League	League	7166	40	179	C
Wong, Katharine	15005-28792	Female	RHS15 UZC Summer Friday League	Adult League	5966	48	124	
Wong, King	15005-18802	Male	RHS14 CBC Thursday Summer	Adult League	6797	36	188	
Wong, Pearl	15005-1599	Female	WOS11 CBC Splitsville Monday Summer	Adult League	7635	45	169	
Woo, Anthony K B	15005-28793	Male	RHS14 CBC Thursday Summer	Adult League	3034	18	168	
Woo, Anthony K B	15005-28793	Male	RHS15 UZC Summer Friday League	Adult League	2360	15	157	
Yan, Gino	15005-2427	Male	RHS14 CBC Thursday Summer	Adult League	2975	15	198	
Yan, Gino	15005-2427	Male	RHS15 UZC Summer Friday League	Adult League	8779	45	195	
Yeung, Darius	15005-8752	Male	RHS14 CBC Thursday Summer	Adult League	6358	33	192	
Yeung, Darius	15005-8752	Male	WOS11 CBC Splitsville Monday Summer	Adult League	7762	42	184	
Yeung, Denis	15005-11924	Male	RHS14 CBC Thursday Summer	Adult League	4129	24	172	
Yeung, Denis	15005-11924	Male	WOS11 CBC Splitsville Monday Summer	Adult League	995	6	165	
Yeung, Jess	15005-22766	Female	RHS14 CBC Thursday Summer	Adult League	3734	24	155	
Yeung, Lewis K P	15005-29465	Male	WOS11 CBC Splitsville Monday Summer	Adult League	1642	12	136	
Yeung, Rita	15005-29150	Female	WOS11 CBC Splitsville Monday Summer	Adult League	3864	33	117	
Yeung, Sylvester	15005-17692	Male	RHS15 UZC Summer Friday League	Adult League	616	3	205	
Yim, Anson	15005-28957	Male	RHS15 UZC Summer Friday League	Adult League	3991	33	120	
Yip, Andy	15005-22918	Male	RHS14 CBC Thursday Summer	Adult League	4632	27	171	
Yip, Fiona	15005-28958	Female	RHS15 UZC Summer Friday League	Adult League	2103	21	100	
Yoon, Ellena	15005-28876	Female	RHS15 UZC Summer Friday League	Adult League	5462	36	151	
Yoon, Jerry	15005-25436	Male	RHS15 UZC Summer Friday League	Adult League	7881	45	175	
Yoon, Sam	15005-29485	Male	RHS15 UZC Summer Friday League	Adult League	472	3	157	
Yu, Nelson	15005-8963	Male	WOS11 CBC Splitsville Monday Summer	Adult League	8292	45	184	
Yung, Karen	15005-28865	Female	RHS14 CBC Thursday Summer	Adult League	1335	9	148	
Yung, Karen	15005-28865	Female	RHS15 UZC Summer Friday League	Adult League	4535	33	137	
Zhang, Hubert	15005-29466	Male	WOS11 CBC Splitsville Monday Summer	Adult League	2719	18	151	
Zingaró, Alyssa G	15005-15867	Female	BAS31 Summer Bankers	Adult League	6501	36	180	